

①

$$250. \quad y = \frac{x^2 + 2x - 3}{x+2}$$

154)

$$y = x - \frac{3}{x+2}$$

$$(or \quad y = x - 3(x+2)^{-1})$$

$$\begin{array}{r} x \\ \hline x+2 \overline{) x^2 + 2x - 3} \\ \underline{x^2 + 2x} \phantom{-3} \\ \phantom{x^2 + 2x} -3 \\ \phantom{x^2 + 2x} \underline{\phantom{-3}} \\ \phantom{x^2 + 2x} \phantom{-3} \phantom{\phantom{-3}} \end{array}$$

axes

$$\underline{x=0}: y = \frac{-3}{2} \Rightarrow \underline{(0, -3/2)}$$

$$\underline{y=0}: 0 = \frac{x^2 + 2x - 3}{x+2}$$

$$x^2 + 2x - 3 = 0$$

$$(x+3)(x-1) = 0$$

$$\begin{array}{c} \downarrow \quad \downarrow \\ \underline{x = -3} \quad \underline{x = 1} \end{array} \Rightarrow \underline{(-3, 0) \text{ \& } (1, 0)}$$

symetry

$$\frac{(-x)^2 + 2(-x) - 3}{(-x)+2} = \frac{x^2 - 2x - 3}{-x+2} = \frac{x^2 - 2x - 3}{-(x-2)}$$

$f(x) \neq \mp f(x) \Rightarrow$  Not odd/even so no Symmetry

x/Minpts

$$y = x - 3(x+2)^{-1}$$

$$\frac{dy}{dx} = 1 + 3(x+2)^{-2}$$

$$= 1 + \frac{3}{(x+2)^2}$$

star pts

$$\frac{dy}{dx} = 0 \Rightarrow 1 + \frac{3}{(x+2)^2} = 0$$

$$\frac{3}{(x+2)^2} = -1$$

But,  $3 \neq -(x+2)^2$   
or  $(x+2)^2 \neq -3$  impossible!

As  $(x+2)^2 \neq -3$   
 No star pts  
 exist as no  
 real roots exist

remes of  
symptotes

$$y = x - \frac{3}{x+2}$$

② 850

Vertical Asymptote

(undefined) when  $(x+2) = 0$

$$\text{At } x = \underline{\underline{-2}}$$

$$x \rightarrow -2^+$$

$$y \rightarrow \infty^-$$

$$x \rightarrow -2^-$$

$$y \rightarrow \infty^+$$

Non-Horizontal Asymptote ( $x \rightarrow \pm\infty$ )

$$x \rightarrow +\infty$$

$$y \rightarrow x^-$$

$$x \rightarrow -\infty$$

$$y \rightarrow x^+$$

Summary

$(-3, 0), (1, 0), (0, -3/2)$   ~~$(-0.15, 0.16)$~~

